
1

USER  MANUAL

JAM + THRON – KICKSTAND ADAPTER Version 1  |  22.08.2022

EN	 KICKSTAND ADAPTER ASSEMBLY
DE	 SEITENSTÄNDER-ADAPTER MONTIEREN
FR	 MONTAGE DE L’ADAPTATEUR DE PIED
ES	 MONTAJE DEL ADAPTADOR DE LA PATA DE CABRA
IT	 MONTAGGIO ADATTATORE PER CAVALLETTO LATERALE
NL	 ZIJSTANDAARDADAPTER MONTEREN

KICKSTAND ADAPTER 
SEITENSTÄNDER-ADAPTER
L’ADAPTATEUR DE PIED 
ADAPTADOR DE LA PATA DE CABRA
ADATTATORE PER CAVALLETTO LATERALE
ZIJSTANDAARDADAPTER

JAM + THRON



2JAM + THRON – KICKSTAND ADAPTER

KICKSTAND ADAPTER 
SEITENSTÄNDER-ADAPTER
L’ADAPTATEUR DE PIED 
ADAPTADOR DE LA PATA DE CABRA
ADATTATORE PER CAVALLETTO LATERALE
ZIJSTANDAARDADAPTER

JAM + THRON



3JAM + THRON – KICKSTAND ADAPTER

1EN 	 Remove the rear wheel.
DE 	 Demontiere das Hinterrad.
FR	 Démonter la roue arrière.
ES	 Quite la rueda trasera.
IT	 Smontare la ruota posteriore.
NL	 Demonteer het achterwiel.



4JAM + THRON – KICKSTAND ADAPTER

2EN 	 Remove the 3 mm washer from the axle.  
DE 	 Die 3 mm-Unterlegscheibe von der Steckachse entfernen.
FR	 Retirer la rondelle de 3 mm de l’axe enfichable.
ES	 Quite la arandela de 3 mm del eje pasante.
IT	 Rimuovere la rondella da 3 mm dal perno passante.
NL	 De borgring van 3 mm verwijderen van de steekas.



5JAM + THRON – KICKSTAND ADAPTER

3EN 	 Put the kickstand adapter in the left dropout. 
DE 	 Den Ständeradapter ins linke Ausfallende legen.
FR	 Poser l’adaptateur de pied dans l’extrémité de fourche gauche.
ES	 Coloque el adaptador de la pata de cabra en la puntera izquierda.
IT	 Collocare l’adattatore del cavalletto laterale nel forcellino sinistro.
NL	 De standaardadapter in het linkse uitvaleinde plaatsen.



6JAM + THRON – KICKSTAND ADAPTER

4EN 	 Mount the kickstand adapter using the washer and the M6 bolt. 
	 The tightening torque is 10 Nm.

DE 	 Den Ständeradapter mit der Unterlegscheibe und der M6-Schraube montieren. 
	 Das Anzugsdrehmoment beträgt 10 Nm.

FR	 Monter l’adaptateur de pied avec la rondelle et la vis M6.
	 Le couple de serrage est de 10 Nm.

ES	 Monte el adaptador de la pata con la arandela y el tornillo M6.
	 El par de apriete es de 10 Nm.

IT	 Montare l’adattatore per cavalletto con la rondella e la vite M6. 
	 La coppia di serraggio è pari a 10 Nm.

NL	 Montare l’adattatore per cavalletto con la rondella e la vite M6.
	 La coppia di serraggio è pari a 10 Nm.



7JAM + THRON – KICKSTAND ADAPTER



8JAM + THRON – KICKSTAND ADAPTER

Legal Base:

Kalkhoff Werke GmbH
Europa-Allee 26
49685 Emstek
Germany

FOCUS BIKES
Rotenwaldstraße 158
70197 Stuttgart
Germany 

Telefon: +49 (0)4471 966-401745
Telefax: +49 (0)4471.966-210
E-Mail: info@focus-bikes.com
www.focus-bikes.com

EN	 Subject to misprints, errors and 
	 technical alterations.

DE	 Druckfehler, Irrtümer und technische 
	 Änderungen vorbehalten.

FR	 Sous réserve d‘erreurs d‘impression, d‘erreurs 
	 et de modifications techniques.

ES	 Sujeto a posibles erratas, errores y 
	 modificaciones técnicas.

IT	 Con riserva di errori, refusi e 
	 modifiche tecniche.

NL	 Onder voorbehoud van drukfouten, 
	 fouten en technische wijzigingen.


